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AN 2 2A (g) 4501.6 | 4656.1 | 4600.5
Ao Vi(g/en) 2.033 | 2.103 | 2.078
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{(rm]?n)o 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
(Eltg fT) 0 6.0 9.0 12.0 15.0 17.0 20.0 24.0 29.0 37.0 44 .0
=7
0 0.3 0.5 0.6 0.8 0.9 1.0 1.2 1.5 1.9 2.2
(kg f/
IR
(/1) 0 0.030 0.045 0.060 0.075 0.085 0.100 0.120 0.145 0.185 0.220
(Skg fT) 0 10.0 16.0 23.0 30.0 38.0 46.0 63.0 79.0 113.0 143.0
=7
0 0.5 0.8 1.2 1.5 1.9 2.3 3.2 4.0 5.8 7.3
(kg f/
=7
OIN/ 1) 0 0.050 0.080 0.115 0.150 0.190 0.230 0.315 0.394 0.564 0.714
(Skg fT) 0 7.0 13.0 20.0 31.0 42 .0 54.0 80.0 109.0 171.0 218.0
=7
0 0.4 0.7 1.0 1.6 2.1 2.8 4.1 5.6 8.7 11.1
(kg f/
=7
(/1) 0 0.035 0.065 0.100 0.155 0.210 0.270 0.399 0.544 0.854 1.089
_ 0.1 0.1
X = : X =
10 3] (2.5mm) 6.9 100 1.2% 5.0mm 0.3 100 1.4%
_ 0.2 B 0.4 }
25 3] (2.5mm) 6.9 X100 = 2.8% 5.0mm 103 > 100 3.8%
_ 0.2 _ 0.5 ]
55 3] (2.5mm) 6.9 X100 = 3.0% 5.0mm 0.3 > 100 5.3%




—
10

103
253|
553]

BRORH(SZ ~ £ )




39 =AY 2%

£ 2015.01.24

D BrE| A

26.5

0.075

100.0

100.0

91.9

34.0

0.033

0.012

0.001

27.9

21.5

13.9

J

Y

K 2

80.0

70.0

60.0

~

50.0

40.0

30.0

20.0

10.0

0.0

0.0001

0.001

0.01

it
0
I
1y
i

10

100




£o AT AIE(2.0mH SHE 24)
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ANELX:2015.01.24 Al & X AES
(BIIHAZAIZ+E2D])L2H 692.01 g £ost=dl(w) : 23.4%
|2 : 577.00 g o9 (Gs) : 2.664
SIAZAZFA W, : 115.01 g 28X (PI) - N.P =AM TAMUES
AXZAMES2AH : Ws=100Ws /(1004+w) : 114.74 ¢
P2.0(2Zd2.0mmolMS JIMSHE: 91.9%
1. 2IAHXZAIRO & 4H =FH(XHELH|)
NO @ 1 NO : 2 NO : 3
WW = 1022.9 WW = 1100.8 W =
DW = 865.9 Tw = 174.8 oW = 927.5 Tw = 205.1 oW = Tw =
Ww = 157 Ws = 691.1 Ww = 173.3 Ws = 722.4 Ww = Ws =
= 22. 7% = 24.0% w =
Yol o 23.4%
2. UHISH ANE
== Z AR I ER EEREENMEEE = Al A o . r=o| 2E
SEAZ t(min) | A28= r' S5200Lm) | L/ t N L/t  (30n)/g(rs—rw) | %ICH&IZHD(mm) SENTE  |EEdT) rH |rasas A
14:31 1 0.0210f 0.0210 128.8 128.8 11.3473 0.0040 0.0454 25 0.0020] 0.0230 32.0% 30.4%
14:32 2 0.0190f 0.0190 132.6 66.3 8.1434 0.0040 0.0326 25 0.0020] 0.0210 29.2% 27.9%
14:35 5 0.0160f 0.0160 138.4 27.7 5.2618 0.0040 0.0210 25 0.0020f 0.0180 25.1% 24.1%
14:45 15 0.0140f 0.0140 142 .3 9.5 3.0801 0.0040 0.0123 25 0.0020f 0.0160 22 .3% 21.5%
15:00 30 0.0130f 0.0130 144.2 4.8 2.1927 0.0040 0.0088 25 0.0020f 0.0150 20.9% 20.2%
15:30 60 0.0120f 0.0120 146.2 2.4 1.5608 0.0040 0.0062 25 0.0020f 0.0140 19.5% 19.0%
18:30 240 0.0100f 0.0100 150.0 0.6 0.7907 0.0040 0.0032 25 0.0020f 0.0120 16.7% 16.4%
14:30 1440 0.0080f 0.0080 153.9 0.1 0.3269 0.0040 0.0013 25 0.0020f 0.0100 13.9% 13.9%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) : SEM 1M & HAZTAIZR 2:2H 2o TOA =241.0507HXI 2 2 0l (mm) 10.87
b : X 2229 20l(mm) 136.84
1/(Ws/V)= 8.72 cm/g Gs/(Gs-0.99678)*rw 1.598 g/cm Vb —‘?—E 2Ll 21 (em) 57.50
A HAASIGS SHHE (o) 58.84
3. HotE
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o &=E MRS RE IIMENE |BEHIIIE S8
0.85mm(NO.20) 1 437.3 453.2 15.90 13.9% 13.9% 86. 1% 79.2%
0.425mm(NO.40) 2 374.3 397.6 23.30 20.3% 34.2% 65.8% 60.5%
0.25mm(N0.60) 3 385.5 398.0 12.50 10.9% 45.1% 54.9% 50.5%
0.106mm(NO. 140) 4 345.8 361.2 15.40 13.4% 58.5% 41.5% 38.2%
0.075mm(NO.200) 5 356.5 361.7 5.20 4.5% 63.0% 37.0% 34.0%
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- NO. 10X €2 Al2E 22 4D
HHAZS ZBIAER
HHAZ 321 W) CAZAIZ AIZ2H (W)
=
=H (MHBINAZTAIZ+ED]) 3756.9 ¢ W+=22D) 2 948.8 ¢
22 750.9 g EJ|2A 750.9 ¢
HAANSO 2IHEXZ2H(W) 3006.0 g W1 197.9 ¢
1. 2mmAl SUHA2Q &H A
NO 1 NO 2 NO
Ww 864.0 Ww 804.2 WwW
Dw 742.4 Tw 209.5 Dw 689.0 Tw 176.4 Dw Tw
Ww 121.6  Ws 532.9 Ww 115.2  Ws 512.6 Ww Ws
W= 22.8% W= 22 . 5% W=
A&l 22.6%
2. BHAZANZSAH W) = W/ (14w) 2451.0
3. 2nmAl SUHEAZSAHW2)= W2=Wo-W1 2253.1¢g 2253. 1
4. P2.0(YH2.0moIl M JIIREDE)= W2/Wo 91.9%
5. 2mmA 0l Y2 Alge A=A
H ot 2 1 2=1/W0
- - o N deaz oy | o= I
MosEsl BARA | g | eww | ¥FER| uss | sas
75 .0mm 1 437.10 437.10 0.00 0.0% 0.0% 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469.50 469.50 0.00 0.0% 0.0% 100.0%
19.0mm 5 456.80 499.10 42.30 1.7% 1.7% 98.3%
9.5mm 6 489.70 518.60 28.90 1.2% 2.9% 97.1%
4.75mm 7 524.00 564 .40 40.40 1.6% 4.6% 95.4%
2.0mm 8 431.10 517.40 86.30 3.5% 8.1% 91.9%
* AXANEFA: 197.90 ¢
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